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1. T W EH & G 918, 37T TH UNeIUT YRehT ki UgdTel 3Tavd WY of TR gad wig femr
BUT, WeT A1 TLT T TS ST U9H ofE 7 e afs Tar &1 & 39 6t udreron it & aga
N

2. STR-UFh ¥ WET WM W URIeT0T YRRt 3T A, B, C A1 D aunfiafa e §9 ¥ Hedg S|

3. 39 Ufe & WY H I MU wISw H YR ST
IFTshTl o B e gfkedt W ik $w T
forg|

4. 79 T gReeRt W 100 YA (F9) R TR yee yer & oW ol # ww 71 v e
o ¥R YR (W) & 7Y B1 57H W Uh YRR 1 gA o, 9 1Y SW-useh W aAfehd he =
g =g k! TH ol foh Th W o1 Yotk WEl € A SH Wegwl okl 3ifehd sy S SMTeR! Herd ol
TIF JEAS & ol weet Th € T A R

5. U o W YegR ool § T MY SW-we W@ Sifhd i 1 Sw-wie § e
3@ I

6. Gt gTA & 3 GHAM B

7. 399 9B fob o9 qdemn giegent & fafy= geaien & TR SW-UEE W SAfehd I YE HL, U]
TAY THOI-U o W U STREl b SER e faeRel Sw-wsh 6 S €

8. MY 3 Wl Y l ITW-TAF H WA &% 9% 91 & & FHO W hadl -0 efereh
Tia <) Ul o1 @ The YRR of S kT sTEfd R

9. T3 MW & fo1d HB Tk T gEH & 3d § TG 2

10. e ST & o g%

TS YyA-uAl B Suiigar grT fad U ew s & fer 9 femn smom

(i) T Yo % ford WR Sspfeqs ST B SHASAR gR Yo% WA & ford i3 U uw Tew S ow fod
e 7q o fofa U stei &1 Uah-Taets v & &9 # w1l s

(i) I I SoHTaR T @ afues ST 2, @ 30 e I A SO, =R G T S § W U W
el ¥, 39 9 & fod SwsageR € ] e s

(iii) 9% SHHGER gR1 H1E weH Bl &l fepan a1 € @reifq SWieR g SwR Tl fea W €, 9 39 e &%
o =g gug T fean s

5 T STl TE URIUT YAt G sl T gl ST ad a7 T




1. T & H U= wifesa wEed (NSO) o Sars
2019 3R S 2020 & = e ‘orafuss o
T HHeU' WA ot RO S ot #1gw
e o frfafad waml W faar #ifsa:

1. TS Gifersd wRed 3 Tafs 99 9
A& (PLFS) 1 9eelt a) ¥ 2018 | &
o= e

2. 3@ foR & seRr, fadm ad 2019-20 #
TR R RS 4.8% TF T TR

3. fafta a9 2019-20 ¥ 99 9 AFARRE ST
40.1% @1 T

4. g€ yfqed wmior iR wed, S € e |
g feafa qeon adam Arfes feafa, =1
¥ IR T§ SIS Hhdal &1 STAH

e B
T Fe F AW T
(a) Hael 1 3R 2 (b) e 1, 2 3R 3
(c) ®aei 2,3 34 (d)1,2,3 34

2. Frafafaa weml | faer Fifsa:
1. S T & IR | 5 Tl 9 10 STemdt
TH T T
2. YRA A GE qREg &l A 2021 § TR
A T80T 1|
3. 9RG &1 IR ¥ Heem uRu # dSF i
AT H AT WA, R 19 Teet i
= 2l
Suda HeEl | @ HhiA-gr8 wel 2R?
(a) Hae 1 3R 2 (b) e 2 2R 3
(c) ®ad 1 (@ 1,2 2R3
3. frAfafaa wedl W fa=am wifsa:
1. efushtor = e ©, T8 wemafs =@
F Hat faasl & g w3 & o wenfud
fopan < 21
2. eIl guR fadee, 2021 799 99 ¥ wH
IY & AfFE H AfgEr § Fgfaaal |

Ueh o 2l
ST FUA ¥ ¥ FE-T/8 TE 22
(a) Had 1 (b) Had 2
(¢) 1 &R 2 T (dFd1, T2

1. Recently the National Statistical Office (NSO) has
released the third annual report on 'Periodical Labor
Force Survey' conducted between July 2019 and June
2020. Consider the following statements in this
context:

1. The Periodic Labor Force Survey (PLFS) was
first launched by the National Statistical Office
in the year 2018.

2. According to this report, the unemployment
rate fell to 4.8% in the financial year 2019-20.

3. In the financial year 2019-20, the labor force
participation ratio rose to 40.1%.

4. It estimates employment and unemployment
indicators annually in both rural and urban
areas, both in general terms and in the current
weekly situation.

Which of the statements given above are correct?
(a) 1and?2only (b) 1,2 and 3 only
(¢) 2,3 and4 only (d) 1,2,3 and 4

2. Consider the following statements:

1. The United Nations Security Council consists
of 5 permanent and 10 non-permanent
members.

2. India assumed the temporary membership of
the Security Council in January 2021.

3. P.V. Narasimha Rao was the first top leader to
chair the meeting of the Security Council on
behalf of India.

Which of the above statement(s) given above is/are

correct?

(a) 1and?2only (b) 2 and 3 only

(c) 1only (d) 1,2and 3
3. Consider the following statements:
1. A tribunal is a judicial body established to
resolve administrative or tax-related disputes.

2. The Tribunal Reform Bill, 2021 prohibits
appointments to tribunals of persons below the

age of fifty years.
Which of the statement(s) given above is/are correct?
(b) 2 only
(d) Neither 1, nor 2

(a) 1 only
(c) Both 1 and 2
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4.8 & H UL a1 SIUER GRETU AT g
STCTHETS ThAl 1 TgeATdl Yol Hid g Th
feard weqa 1 T €, 9 e # fefafed st
R four Fifsa:

1. 3T g Td fuR & ST{uR seudesh
whel | TR-STeTH@h HHRE % 62.5% T
2
2. TR % e, wewdl | fian & gmr= fowa
i off Fmifote wE =fed
3. HF WA H STIEEIS @Rl wI gad |
FCTHETH Tl i HET A T T B
F= @ T e F T wR A Fwed g
(a) ®ad 1 3N 2 (b) Had 2 3N 3
(c) ®ael 1 3R 3 (d) 1,2 3R 3

5. 9Ra A fafa &1 agH & fa geen fafd e

&7 Frefafed & o el Tenfya fawan o
(a) HiSel (b) wifea
(c) RIE (d) =PI
6. ‘fagm enffw &=’ (SEZ) & §sd ¥ f=fafea
Fol 4 @ HHA-9 T B2
1. THH! TUAT a&gel ©d Hael & i &6
TgH & foard &t T e
2. I8 WRA R < % 9 ANR ST i
QURA & o gt Su@ @ g )
3. 399 T feee & favemm wt wEen
I BT R
= fed MU FE w1 YA H GG wAA A
(a) ®ad 1 3R 2 (b) Fee 1 3R 3
(c) ®aet 2 3N 3 (d) 1,2 3R 3

7. ‘T @@ da feE-stta um' & §’d |
frafafad weml W faem wifva:

1. SHHI AT I T & TR SIRA Hl T@EhT
& T w2

2. 2030 T Y dA hi Bt Hl TEHT 18 A
TR I o S|
3. ARG g | SAEfd dd 1 T 9l §el

IuERT
4. TH A & GAOH Had IW-J1 T SSHA
feptar o &
Sug HeEl | ¥ -4 el ©?
(a) el 1 3R 2 (b) e 2 3R 3
(c) ae 1 3 3 (d1,2,3 34

4. Consider the following statements regarding the
report Recency, a report has been released by the
National Commission for Protection of child rights,
making a Nationwide assessment of minority schools:

1. According to the report submitted by the
commission, 62.5% of the children from the
non-minority community are in the minority
school.

2. According to the report, the general subjects
of education should also be included in
madarasas.

3. Insome states, the number of minority schools
is found to be more than the minority
population.

Which of the statements given above are correct?
(a) 1and?2 only (b) 2 and 3 only

(d) 1,2 and 3
5. Where did India set up the first Export Processing

(¢) 1 and 3 only

Zone to increase exports?
(a) Kandla

(c) Paradeep

(b) Kochi
(d) Kolkata
6. With reference to 'Special Economic Zones' (SEZ),

which of the statement(s) given below is/are correct:
1. Tt was established to increase the export of
goods and services.

2. It can be an effective measure to rectify the
trade imbalance between India and China.

3. It has created the problem of displacement of
rural farmers.

Select the correct answer using the codes given below:
(a) 1and?2 only (b) 1 and 3 only

(¢) 2and 3 only (d) 1,2 and 3
7. With reference to 'National Edible Oil Mission-Oil

Palm', consider the following statements:
1. It aims to triple the domestic production of
palm oil.

2. By 2030, palm oil cultivation will be increased
to 18 lakh hectares.

3. India is the second largest consumer of
vegetable oil in the world.

4. This scheme will be operated only in North-
East and Andaman and Nicobar.

Which of the statements given above are correct?
(a) 1 and?2 only

(b) 2 and 3 only
(¢) 1and 3 only
(d 1,2,3and 4
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8.

10.

11.

‘Al ofem’ AHE I & wed ¥ frefafad wemt
R fo=r Fifea:

1. 7€ U aeRd SHiH AT 2
Tg W S MR 7 <A wrEn w3 R
79 U & g =R/ o ol v g S 2
TH YT K1 Haileeh Yohig s | <@n
T R
= &3 T HE w1 TET H T wOH G
(a) Woe 1 3N 2 (b) ot 2 3R 4
(c) ®ael 1,2 33 (d) 1,2,3 3N 4

Eal e

‘AR e HeRtHeh UM o Hed # frefafed

FeAl R four Fifs3:

1. I% I fawmusta €, saent famm) geien aier
T Haferd 2

2. THHI YER WHRE gR fRar S @

3. fod, 3t ® W o Tk T uqW
e F)

ITfE weA § ¥ HE-wA " 22?

(a) el 1 3R 2 (b) Hea 1

(c) ad 2 3N 3 d 1,2 33

S UREd W SfA-ER Ul (SgdeiE)
F1 Bl R & Wed o fAfafed wal | fo=r
HIfS:

1. 39 ROl & = 2050 7% dfves ‘g5
IESA' HE H AAH  STETIHRA W AR
fean T R

2. Tl o =e orgAm @ T © o oud &
T ok gealt w1 i e 2 ferlt Sfewem
R Y ST

ST FUA § ¥ FE-A/8 & 222

(a) ®ad 1 (b) Had 2

(c) 1 @R 2 T (d Fd, 1,72
TA H JeHd WX R wied o gR yehie
e & o o fr=fafed womi = faar Fifse:

1. a9 1990 ¥ 2018 & o= Waifusw THE T2
% Herd 1 AT GR= STE Sl LT 9l

2. ot 9 W fe sfifeen T # v ufaw
T aifuw 9 sifaafs =i <@ m R

3. q9 TREH W o6 H IS GeH Tél L

ITfE werl § ¥ HE-E/A wE 22?

(a) el 2 3N 3

(b) Haa 1

(c) Haa 2

(d) weer 1 R 2

8.

10.

11.

With reference to the disease called 'Monkeypox',
consider the following statements:
1. Ttis a viral genetic disease.
2. The disease has been found in both monkeys
and humans.
3. The lymph gland enlarges in the initial stage
of this disease.
4. The highest outbreak of this disease has been
seen in Nigeria.
Select the correct statement using the code given
below:
(a) 1and?2 only (b) 2 and 4 only
(¢) 1,2 and 3 only (d) 1,2,3and 4
With reference to the infectious disease called
'Marburg', consider the following statements:
1. Thisdisease is caused by viral, its virus belongs
to the Ebola family.
2. Itis spread by bats.

3. Headache, vomiting blood, etc. are its main

Ssymptoms.
Which of the above statements is/are correct?
(a) 1and2only (b) 1 only
(¢) 2and 3 only (d) 1,2 and 3

With reference to the Sixth Report of the Inter-
Governmental Panel on climate change (IPCC)
consider the following statements:

1. This report emphasizes the minimum
requirement to have a global 'net-zero
emissions' by the year 2050.

2. It has been estimated in the report that by the
middle of the century the average temperature
of the earth will cross 2 degree Celsius.

Which of the above statement(s) is/are correct?

(a) 1only (b) 2 only

(c) Both 1and?2 (d) Neither 1, nor 2
With reference to the report recently published by the
National Center for Coastal Research, consider the
following statements:

1. Between 1990 and 2018, West Bengal suffered
the most beach erosion.

2. The state of Odisha situated on the eastern
coast has witnessed land accretion of more
than fifty percent.

3. There are no means of protection against
coastal erosion.

Which of the above statement(s) is/are correct?
(a) 2and 3 only
(b) 1 only
(¢c) 2only
(d) 1and2 only
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12. afean s<ege ot femmera fSamarst & e
& TTER fuserd TRER & Gay o A He
C il )
(a) a9 2015-19 & o= RER &1 e &
T 6 " qh A T 2
(b) Tewum @R fewie o o i 7€ Wd 7 a7
% &R0 ferg fyme ® 2
(c) g TTHE H Sl B % HRU 9% &
fosrem o e 3 "Rl €
(d) S a9l TEl W A g ® aifer wi
G &% Tl 2
13. ‘e wiffrayd’ ¥ IO gmensti & wed H
HIA-H HUT A 87
(a) T WIfFRyd & =od WRdE fHam,
T det 3R et Tl | et S
fefeTaee] 1 THEM € Gehdl
(b) APRA WAy FHuifaa st &1 Adl &
YoM qT T W &l I HH H HRE
off a9 T B
(c) IR ¥ oI & /= T 3=d 9erm
Y eRiaaaiae &1 gue g Fehdt 2l
(d) IE Wipfas TRR 1 fafaudr =1 gag gt
TEEE B
14. ‘Hif=ae Yermia’ fefatad o 9 fra afeg 872
(a) SIS WA &Rl (b) IEEE St
(c) Tsial el (d) Sta fafeaema
15. ‘Uit sher’ frefefead & 9 9rd & foe w1y
wxentad & | feord 72
(a) - (b) T
(c) & (d) feumrar wew
16. TR g 9Rd &1 6y wwr@ & fod T @i
foge oRied Tl & &9 H wHifva feman w82

(a) e (b) TETE
(c) HTeArEm (d) HeTsiEet
17. A & ® 9Ra & T TF 9 109 @ w1
S Tfdat 1 @ @ @2
(a) ST T (b) FHAEH
(c) e (d) 3T ==
18. BT & H ik 51 fova e Toa g # wnfie
TEYeR Hiel 1 Hee fored €2
(a) Tsghe
(b) =t
(c) e
(d) T

12. According to the study of Wadia Institute of
Himalayan Geology, which statement regarding
melting glaciers is false?

(a) The melting rate of glacier has reached 6 meters
between the year 2015-19.

(b) Glaciers are melting due to non-formation of
new layers of snow and glaciers.

(¢) Due to increase in air temperature, the melting
of snow may intensify.

(d) Chances of rain may increase in summer at
high altitude places.

13. Which of the following statement is false regarding
the problems arising out of 'food fortification'?

(a) Food fortification may harm Indian farmers,
the informal economy associated with local oil
and rice mills.

(b) Iron fortification can also become a factor in
causing inflammation and other diseases in the
intestines of malnourished children.

(c) Abnormal and high storage of vitamins in the
body can lead to hypervitaminosis.

(d) It is the most effective solution to variety of
natural diet.

14. 'Montreal Protocol' is related to which of the
following?

(a) Ozone layer depletion

(b) Biomass Energy

(c) Wildlife Defense

(d) Biodiversity

15. In which of the following State/Union Territory of
India is 'Pangong Tso Lake' located?

(a) Jammu and Kashmir (b) Ladakh

(c) Kerala (d) Himachal Pradesh

16. Which site of the Indus Civilization in India has been
declared as a World Heritage Site by UNESCO?

(a) Dholavira (b) Rakhigarhi

(c) Kalibanga (d) Mohenjodaro

17. Recently from which state of India two Jain idols of
the 10th century have been discovered?

(a) Andhra Pradesh (b) Karnataka

(c) Telangana (d) Uttar Pradesh

18. With whom is the Rudreshwar Temple recently
included in the UNESCO World Heritage Site list
related to?

(a) Rashtrakuta

(b) Chola

(c) Pandya

(d) Kakatiya
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19. ‘uEEst Ssoaen A 2,07 & Ged H f=fataa
FHoAl R fa=m Fifed:
1. T IS &% Y¥H =107 i YEeTd a9 2017
H & T eff)
2. Al % AT W TSI H W W Al i
319 Hhael TEIfd JHO-9S 31 B
3. ISl & ded e i etfaftea 10 fafesm
TAEL SR, FHAHE < w1 AR @ T R
= <@ T Fe w1 T B TG HeH G
(a) Haa 1 (b) ot 2 3R 3
(c) Woe 1 3N 2 (d) 1,2 3R 3
20. ‘HfEes WEE fasEes, 2021 % Hed o ®E-E
A FUA 27
(a) a® faeges wemr w9 eIfufem, 1927 &
TE @l
(b) I fauue URRE S &=, TREvg ek
IR o enffer & W @ g 2
(c) T o &5 WaR & AfaeE 3g fodt
Heral i ‘2T Tgeesy’ % ®9 H AifHa
F F SAYFER T 2
(d) o foa ffa stouy = o o+t ety

wfher fea e €
21. FreAfafad & 9 w6 foen & & #1 T Ted 22

1. fsa1 2.0

2. Thehd % fE wiee

3. Ugd A

4. TS fren it q=
= f@ T w2 w1 W@ w HE IW g
(a) ®adA 1 3N 3 (b) Fee 1, 2 AR 4
(c) el 3 3R 4 (@ 1,2, 334

22, ‘srgfad SHS sTew wWeMeA farEw, 20217
STEUEE YW 1 foRd Tqgfaa SHenfa & gt |
T T /2

(a) 3TER (b) Taeet waMH
(c) W (d) =

23. ‘wmy foren A 2.0 & wedd ¥ fAfafed wuei
R foErR Fifa:

1. 9 A & HIeH 9 ToIs A SRl gio
BRI g=al & USAEH, TH 9 UReagd Wl
TS fehar STam|

2. @l IFIH At & Swm S wh & wH
q q B TRT T W IEH S |

ST wUA § ¥ HE-E/A T 22
(a) ®ae 1 (b) Fert 2
(¢) 1 &R 2 T (d Fd1, T2

19. With reference to 'Pradhan Mantri Ujjwala Yojana
2.0', consider the following statements:

1. The first phase of this scheme was started in
2017.

2. Under the scheme, people living in other states
will now have to give only self-declared
certificates.

3. Ithasbeen targeted to provide 10 million LPG
to additional beneficiaries under the scheme.

Select the correct statement using the codes given
below:

(a) 1 only (b) 2 and 3 only

(¢) 1and2only (d) 1,2and 3

20. Which of the following statements is false regarding
the 'Maritime Assistance Bill, 2021'?

(a) This Bill will replace the Lighthouse Act, 1927.

(b) This bill applies to territorial waters,
continental shelf and exclusive economic
zones.

(¢) The Bill empowers the Central Government
to designate any aid for navigation as 'Heritage
Lighthouse'.

(d) All offenses have been included in the offense
list prepared for this.

21. Which of the following are the initiatives taken in the
field of education?

1. NISHTHA 2.0

2. Academic Bank of Credit

3. PAHAL Plan

4. National Education Technology Forum

Select the correct answer using the code given below :

(a) 1 and 3 only (b) 1,2 and 4 only

(¢) 3 and4 only (d) 1,2,3and 4

22. Inthe 'Scheduled Tribes Order Amendment Bill, 2021'
Which Scheduled Tribe of Arunachal Pradesh has
been removed from the list?

(a) Abor (b) Mishmi-Kaman

(c) Monpa (d) Nocte

23. With reference to 'Samagra Shiksha Yojana 2.0',
consider the following statements:

1. Under the scheme, textbook, dress and
transport allowance will be provided to the
children through Direct Benefit Transfer
facility.

2. Sports grant will be given only when at least
2 students from a school win medals at
National level.

Which of the statement(s) given above is/are correct?

(a) 1 only (b) 2 only

(c) Both 1 and?2 (d) Neither 1, nor 2

R o7eEE | Wi e
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24. YR TR g I ' E-FW' A SR a8
PIaE Yot i fagwast & g o frefafea
FoAl ¥ HA Ed 77

(a) 399 YA e, fefSed qmam wg =n
T ST TR & T SUEM @ asER
1 Hehal 2

(b) TEH Tan yES foaer fedt Hifaw gexhg
% fefsea mie & ol wd a1 wem@r @
T T

(c) TE UTEA U Ug Wehfd w1 2

(d) TH UHR % ISR TF § oH-37 W TH &
1% g Wl YEl w1 PaE feRen s

25. ‘A€ € 2" ugyeza & ded o frAfafed wemt
R fo=r Fifea:

1. 39 RS 1 SR g wopd 4 T R

2. I8 1200 TR @t aifees PR 9@ oA
At afEs B

3. 98 Weuared ufden 55 fafeem Hffasw Hiex
T o wH H weH 2l

IwE werl § ¥ HE-wA "l 22

(a) od 1 (b) e 2 3R 3

(c) ®aet 1 3R 3 (d) 1,2 3R 3

26. ‘Sifge MeeE <EEw’ b < 39 w1 ARG & o=
T T@fud & & fod eIy fopan man?

(a) 9RA-mAfERT (b) YWRA-HIH

(c) “Ra-sireferan (d) STRG-iereer

27. ‘I8 SER’ GENfTRT HY %1 SR 1 7?2

(a) WIHI UL o i TR BT gL g
HE

(b) THMITEE % fd Tft I HI Thge H

(c) TR % ufa Sfveess S

(d) fomm ufifeafq o Seti 1 eavasd TR W
A R

28. fr=fafed & ¥ vaR i o wnfae g9 are
ATl T HE-E A €2

(a) G AL I

(b) o A TS SATARTH

(©) (a) ¥R (b) Tl

(d) SwH ¥ 9 FE T

29. ‘mrse Wt frfefea o fea <o ° feea @fea
SeTeE! geid 27?

(a) ZSHRE

(c) Toreft

(b) TATEE
(d) seeft

24. With reference to the features of the electronic
voucher payment system called 'e-Rupee' issued by
the Government of India, which of the following
statements is false?

(a) Here the user can redeem the voucher without
using the card, digital payment app or internet
banking access.

(b) In this, the service sponsor will be able to
connect with the beneficiary and the service
provider in digital mode without any physical
interface.

(c) This system is of post-paid nature.

(d) Payment will be made to the service provider
only after the transaction is completed in this
type of voucher mechanism.

25. With reference to the 'Nord Stream 2' pipeline,
consider the following statements:
1. This project has been started by the US.

2. Itis 1200 km. long project passing through the
Baltic Sea.

3. This pipeline is capable of carrying 55 billion
cubic meters of gas per annum.

Which of the statement(s) given above is/are correct?
(b) 2 and 3 only

(d) 1,2and 3

26. 'Joint Guidance Document' was launched to establish

(a) 1only
(¢) 1 and 3 only

co-ordination between the navies of which two
countries?

(a) India-US

(b) India-France

(¢) India-Australia

(d) India-Bangladesh

27. What is the objective of the 'UNITE Aware'
technology platform?
(a) Ensuring the security of UN peacekeepers.

(b) To unite all countries towards Afghanistan.
(c) Global awareness about pandemic.
(d) Deployment of armies to the required place in
difficult situation.
28. Which of the following site(s) is/are included in the
Ramsar Convention?
(a) Sultanpur National Park
(b) Thol Lake Wildlife Sanctuary
(c) Both (a) and (b)
(d) None of the above.
29. 'Mount Merapi' is an active volcanic mountain located
in which of the following country?
(a) Indonesia (b) Hawaiian Islands

(c) Chile (d) Ttaly
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30. ‘GUM Yolell’ 1 STHAR W 9Rd & fohd T |
ERIUBCEI IS G
(a) ® 9 HARH (b) HERT F 7Y =W
(c) TN 9 HERE (d) /9 3 HeTE
31. ‘wifesw oufite yevm @emed W, 2021 ®
yagHl & §ed W frefafed wedl W faER
Hifea:
1. 39 stfue o foma-g9 wnfes 9 ffifd
U ST R S=E STufyre Al arel
g ot 2022 9 gfqafad wE &1 AL @
T R
2. AT o7 1 A HIeE w2022 ¥ 120
HEH ok SgH I &g @l T 2
ST weAl § ¥ HE-T/A T 22
(a) ®ad 1
(b) Haa 2
(c) 1 3 2 g
(d Jda1, T2
32. T & ¥ @erd § e T favd 1 wad S uew
frafafaa & ¥ fFe < 9 e TR 27
(a) ST < (b) fifa =
(c) rerden < (d) Jear =
33, 9Rd @R ®F % GYH U9 o ‘gR’ & 129
GEHTU 1 AESH el W e T 82
(a) TR (b) TR
(c) s (d) T
34, TR fraea & ded § ffafed ol W faur
Hifea:
1. I8 "em 9ot &t §ae § A H AR R

At foamse 2
2. I8 T 100 fohatie &t g W feora @ex
H 9 | G B
3. 39 foaEa &1 S9eH @RI ©R [R5
feren ST 21
= &3 T w2 w1 W@ wEE W g
(a) Haa 1 (b) o 1 3R 3
(c) ®ae 2 3R 3 (d) 1,2 3R 3

35. 9RA ¥ @k wael | guR & fod frafatea 9 9@
fora afafa/fe afafel o1 17 fen = ar?
(a) Tl U (b) = S
(c) Wl (d) (a) ST (b) Al

30. In which states of India the 'Surangam System' is
commonly used?
(a) Kerala and Karnataka
(b) Maharashtra and Andhra Pradesh
(¢) Gujarat and Maharashtra
(d) Assam and Meghalaya
31. Withreference to the provisions of the 'Plastic Waste
Management Amendment Rules, 2021', consider the
following statements:

1. Inthis notification, a target has been set to ban
items of low utility and high waste potential,
manufactured from single-use plastics by
2022.

2. Atarget has been set to increase the permissible
thickness of plastic bags to 120 microns by

2022.
Which of the statement(s) given above is/are correct?
(a) 1only (b) 2 only

(c) Both1and?2 (d) Neither 1, nor 2
32. The world's highest road, recently built in Ladakh,
passes through which of the following passes?
(a) Umling La (b) Niti Pass
(c) Jelep La (d) Rohtang La
33. Where was the 12th edition of the joint military
exercise 'Indra' between India and Russia organized?
(a) Moscow (b) Volgograd
(c) Babina (d) Goa
34. With reference to the Akash missile, consider the
following statements:

1. TItis a medium range surface to air missile.

2. It is capable of hitting targets located at a
distance of about 100 km.

3. The movement of this missile is done by the
indigenous Radar Rajendra.

Which of the statement(s) given above is/are correct:
(a) 1only
(b) 1and 3 only
(¢) 2 and 3 only
(d) 1,2and3
35. Which of the following committee(s) was/were
formed to improve the Civil Services in India?
(a) Macaulay Committee
(b) Lee Commission
(¢) Strachey Commission

(d) Both (a) and (b)
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36. WA @had § SIOAC T I-IMEF ® GeH H
frafafed Foai ® faar wifsa:

1. = 2008 ¥ MER -TeE F=AME Aiga ®i
foaR =0 gU ' SHRgE R Wi Ihe TR
i

2. YNA i GgH T & HEIoRR SR onfefen
el @& faumt 3 a9 2020 § $-9MEA wEe
¥ 10087 T femn 2

3. fefSea zfen wriwm 3-vmw ¥ el W@
o &5 T @ B T | w2

ST weAl § @ #E-9 9 7?2
(a) Hae 1 3R 2 (b) e 1 2R 3
(c) Had 2 3N 3 (@ 1,2 3R 3

37. %9 3 W e & weed o frfafea wei o 9
HH-9 TEl §?

1. 39 AfYEH #1 3T¥d AT 96 S9ge aut
S oo & o §EAd R s § o
%1 9 T 2

2. 3HH S WU U Yerd & fod 9 W
foselt A et i ff 9%a SFH HT 9
foram S|

3. ] o H 9N i i i ufd st
Sl SUCTSHAl 1816 59 X q Bl

= fed M T2 1 T H HE IR G
(a) Hae 1 3R 2 (b) e 2 3R 3
(c) Hae 3 3N 4 @ 1,2 33

38. ' IR YeTHih Har gden’ w1 AW agas] | fafae
o' when T wfafq =1 fawfer w= fF=n w= ar?
(a) ISR Hfffq
(b) Herm wfafa
(c) . Tfawr w@ wfFfa
(d) =eTaTer Gfafa
39, gfaum ¥ ‘sifee ard™ dar’ &1 weA fefatea
o 9 oy oress & ofavid feman e @2
(a) TR 312 (b) TR 356
(c) STT=R 317 (d) 3TT=T 360
40. YR @ gar § R 2 wae o ® faem
FHEAr’ w1 foRm@et & Wed o frfatad wem
R faem wifea:
1. 39 fovm o ‘e | d@ieH’ ot i ™
sifess IR = s
2. fofod @ @ wafum W= &t gffesmed,
Tfafafeai den e & e Hedt gfewo &
Y Efeed HT 2
3. U I STERIAHAl % &Y alch Tal Fi Jardl
I I@d T wMW 3TEfed fopan S

36. With reference to the e-governance adopted in the
Indian democracy, consider the following statements:

1. In 2008, the Gartner e-Governance Maturity
Model was expanded to include 'People
Oriented Government'.

2. Indiahasbeenranked 100" in the e-Governance
survey in the year 2020 by the United Nations
Department of Social and Economic Affairs.

3. The Digital India program is helpful in bridging
the gap between urban and rural areas in
e-governance.

Which of the statements given above are correct?
(a) 1and?2 only (b) 1 and 3 only
(¢) 2 and 3 only (d) 1,2and 3
37. Which of the following statements are correct
regarding the Catch the Rain campaign?

1. The objective of this campaign is to motivate
the states to prepare structures for suitable
pre-monsoon rain water harvesting.

2. Efforts will also be made to make the previous
schemes made for water conservation and
management successful.

3. India's average annual per capita water
availability in the current year is up to 1816
cubic metres.

Select the correct answer using the codes given below:
(a) 1and?2 only (b) 2 and 3 only
(¢) 3 and4 only (d) 1,2 and 3
38. On the recommendation of which committee ‘Indian
Administrative Services Examination’ was renamed
as ‘Civil Services’ Examination?
(a) Kothari Committee
(b) Santhanam Committee
(¢) P.Narasimha Rao Committee
(d) Yashpal Committee
39. Under which one of the following Articles of Indian
Constitution the 'All India Service' has been
constituted?
(a) Article 312 (b) Article 356
(c) Article 317 (d) Article 360
40. With reference to the features of 'Mission Karmayogi'
being run to improve the Indian Civil Service,
consider the following statements:

1. In this mission, more emphasis will be given
on the process of 'learning at the workplace'.

2. The posts related to the Civil Services are to
be organized with a view to the framework of
roles, activities and competencies.

3. Allotment of work will be done according to
the requirement of the post keeping in view
the efficiency of the civil service.
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ST wUAl § ¥ -9 T 22

(a) ae 1 3N 2 (b) ot 2 3R 3
(c) @t 1 3R 3 (d) 1,2 3R 3
41. ffafed g9 W faar wivE:
TN AT
1. aRdrE qy) fafean TSIATR
AT HEAM
2. U A0 STHYE EHIGRS
LA
3. ARG HfY STHUH IEEIS
RIEC
StF § § wE-T/8 g gt gafaa 227
(a) el 1 3R 2 (b) Hee 3
(c) wae 1 3R 3 (d) wea 1
42. frefafead gmi W fa=r Hif:
1. BRa whifd - @R 3
2. ¥ it - Y IARA
3. reft shifa - T 3IRA
4. dreft sifa - feerea saarea
S § @ wE-T/d g wel gafed 2722
(a) Fad 1 (b) ®ad 1 @R 2
(c) ®ad 1 3N 4 (@ 1,2,3 3T 4

43. ‘e 9’ fEfafed § 9 f59 w9 &1 TH
fre 22

(@) & (b) #m
(c) &l (d) 71
44, frAfafed g W faar #ifvE:
1. Sl 1 TEEETT - 1969
2. @ - 1984
3. foedt - 1990
4. &g 7o R - 1978
T F Y FAE g T 82
(a) ae 1 3R 3 (b) &t 2 3R 3
(c) Woe 3 3N 4 (d1,2,3 3R 4

45. freAfafed ol W faar FifsE:
1. TEel SR 2011-12 o o1 9 TSl i AT
o %t g B
2. Tomgiertor ok Sftuw &t s frofai o ergmfsa
&5 o STA 1 THUH TEAME 2
3. ganeTl H SRSFRI & 2012-18 & o9 d@at
20% T TR TEI

Which of the statements given above are correct?
(a) 1 and?2 only (b) 2 and 3 only

(¢) 1and 3 only (d) 1,2and 3

41. Consider the following pairs:

Institute Headquarters

1. Indian Veterinary Izzatnagar
Research Institute

2. National Dairy Bangalore
Research Institute

3. Indian Council of Bihar

Agricultural Research

Which of the above pair(s) is/are correctly matched?
(a) 1 and?2 only (b) 3 only

(c) 1and 3 only (d) 1 only
42. Consider the following pairs:

1. Green Revolution - Agricultural
Production

2. White Revolution - Milk Production

3. Blue Revolution - Fish Production

4. Yellow Revolution - OilseedsProduction

Which of the above pair(s) is/are correctly matched?
(b) 1and?2 only
(d) 1,2,3and 4

(a) 1only
(¢) 1and4 only
43. 'Kalyan Sona' is a variety of which of the following

crops?
(a) Wheat (b) Paddy
(¢) Mustard (d) Moong

44. Consider the following pairs:

Financial Institution Relevant Year

1. Nationalization of banks - 1969
2. NABARD - 1984
3. SIDBI - 1990
4. Regional Rural Banks - 1978

Which of the above pairs are correct?
(b) 2 and 3 only
(d) 1,2,3and 4

45. Consider the following statements:

(a) 1 and 3 only
(¢) 3 and4 only

1. The prevalence of poverty has decreased for
the first time since 2011-12.

2. Decisions like demonetisation and GST have

hurt the unorganised sector enterprises.

3. The unemployment rate among youth rose to
20% between 2012-18.
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F= @ T w2 F TE R L weE A
(a) ®ad 1 (b) Had 2
(c) ae | 3 3 d 1,2 33
46. Tfafad woi ) faur sifs:
1. 9 U9 WHisH 3899, 2021 H 9RA &1 W
1447 B
2. THAE 3eETEA A 9 TRl & faars
THE & TR H g & 2
3. 1885 1 IRAT ek tfufTad Iefihi
A 9 Fafd 2
4. WRAE @R ol FIREAT @ R USE R
forad ge@wm fram Sefme sifufem, 2009

FHIA A T 2
S Al § ¥ HE-H T 22
(a) Hael 1 3R 4 (b) eet 2 3R 4
(c) ®aei 2,3 34 (d)1,2,3 34

47. T @ H Bk I’ Y@l F1 wHE SAHAR R
H S W R 39 IS h A ARE 72
(a) Toreht =afem &1 gfg IR wremned =1 gee
wE % fod fesmea &t 78 fam wem enenfia
e 2
(b) € T F TH YRR 7, S A hl SRR
T 2
(c) THMR 39 &1 TH T faen 2
(d) T Hifear § TNt SAfhel i TEd HH
1 T YuIed 21
48. frfafad Foi R faar wifs:
1. U gren srfufTem, 1980 W ‘s Ram’
=1 qRE et feren T R
2. TOREA o TACHS THE gN YMEH U
forrfaa foran T 21
3. UMEY sfehee WYl Ug ehdl B
ST weA § ¥ FE-T/Y TE@ 2
(a) ®ae 1 (b) e 1 3R 2
(c) ®ae 1 3R 3 d 1,2 33
49, ‘%ger fagm’ & g3 o f=fafed wuml w four
EAIERE
1. o9 1978 ¥ Sx1feh SFles 9. HHeR A 3H
Tagra =1 gfdqures fean
2. g fagia siafe ygwor & wno fusl &

ZHTE 1 GAEAT i ARSI Bl %|

3. SfaRel TEUUl &1 Udl @M ool TR wE
g 1 2030 W i fordl 9 &1 Gerer 21

ST weA § ¥ HE-T/A W 22
(a) el 1 3R 3
(c) Hael 1 3R 2

(b) Haa 3
(@ 1,2 3R 3

Select the correct statement using the codes given

below:
(a) 1only (b) 2 only
(¢) 1 and 3 only (d) 1,2 and 3

46. Consider the following statements:

1. India ranks 144" in the World Press Freedom
Index, 2021.

2. Amnesty International has confirmed the use
of Pegasus against Indian journalists.

3. The Indian telegraph Act of 1885 deals with
telephone conversations.

4. The Interception Rules Telegraph Act, 2009
has been enacted to provide protection to
Indian people from surveillance.

Which of the statements given above are correct?

(a) 1 and4 only (b) 2 and 4 only

(¢) 2,3 and4 only (d) 1,2,3and 4

47. Recently the phrase 'Fake News' was in the news.
What is the meaning of this phrase?

(a) It is unproven evidence-based information
designed to influence a person's intelligence
and emotions.

(b) Itisatype of news, which makes people aware.

(c) This is a new mode of providing news.

(d) Social media is a new system of presenting
government data.

48. consider the following statements:

1. The National Security Act, 1980 does not
define 'national security'.

2. Pegasus instrument developed by Israel's NSO.

3. Pegesus can read encrypted messages.

Which of the above statement(s) is/are correct?

(b) 1 and 2 only

(d) 1,2and 3

49. With reference to Kessler Syndrome, consider the
following statements:

(a) 1 only
(¢) 1 and 3 only

1. In 1978, scientist Donald J. Kessler propounded
this theory.

2. This theory explains the possibility of collision
of bodies due to space pollution.

3. The Clear Space Mission, which detects space
pollution, is likely to be launched in 2030.

Which of the above statement(s) is/are correct?
(a) 1 and 3 only
(b) 3only
(¢) 1and?2 only
(d) 1,2and3
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50. 9Nd & TSI TG UY] SMUIRG SRl & Aierfasnt
g9 & Ged ¥ frefafad weul W faur #ifse:
. 9Rd % WA eSE T Sos § Sl i
Y 391 19 TF wEgr FNE T
2. wgEt i faem & fod rfues ot wifoa e
el EHe Se-fetaea % ford giaeme €
3. Hiom T SAd & o ool S Sees o
AT 10 e AEE <t 2

ITF woAl § @ -9 9 72
(a) Hael 1 3R 2 (b) e 1 2R 3
(c) Had 2 3N 3 @ 1,2 3R 3

51. ‘I FomEHe ®e' & §iY H fAfafEd wuAl W
IEEESCAISEE
1. frod w® % H THH ohaa T faferm
TR T gt I 2
2. =&Y A AR W 200 faferem Sfer @@ i
Tl e 1 e 2
ST wedl § ¥ FA-A/A TE 22
(a) ®a 1 (b) Faa 2
(c) 1 &R 2 T (@ Fd1, T2
52. oTfo@ &iT o9 1 T we ge2
(a) 1993 (b) 1999
(¢) 1995 (d) 1994
53, SIqUST HF ®W R I 2021 & fod 9Rd &
faehT® 1 N A WA fohar T 22
(@) 75% (b) 23.5%
(©) 5.2% (d) 9.5%
54, RAE dfgum o weieA &1 vfE 5 et &
ded ved 77

(a) STT=3% 368 (b) 3TT=BR 365
(c) 3T 356 (d) TT=T 360
55. HyEME IR w9 Freteied § ° faay getua 872
(a) TEE gomedt (b) Tszafd
(c) TumHA (d) HfeM it gt T

56, freafafaa & @ fF ardg dfaum & ToHifas
9 ® w9 ° e fRa S g @72

1. ISR = 2. Sfe T &
3. defderan

= f@ T e w1 W@ W HE W g
(a) e | (b) a1 3R 2
(c) ®ael 1 3R 3 @ 1,2 33
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50. With reference to the ecological impact of dairy and
animal based products in India, consider the following
statements:

1. Gas generated from dairy farming is an
important factor in India's greenhouse gas
emissions.

2. Crops that absorb more water to feed the
animals are unfavorable for the climate.

3. Methane gas contributes about 10% to the dairy
sector's total GHC emissions.

Which of the statements given above are correct?
(a) 1and?2 only (b) 1 and 3 only
(¢) 2 and 3 only (d) 1,2 and 3

51. With reference to 'Green Climate Fund', consider the
following statements:

1. It has raised only one billion dollars in capital
in the last decade.

2. There is a provision to raise an amount of up
to $200 billion annually.

Which of the above statement(s) is/are correct?
(a) 1only (b) 2 only
(c) Both1and?2 (d) Neither 1, nor 2
52. When was the ASEAN regional forum established?
(a) 1993 (b) 1999
(c) 1995 (d) 1994

53. What is India's growth forecast for the year 2021

presented by the International Monetary Fund?
(@) 75% (b) 23.5%
() 52% (d) 9.5%

54. Under which article the power to amend the Indian
Constitution is given?

(a) Article 368 (b) Article 365
(c) Article 356 (d) Article 360
55. Kesavananda Bharati case is related to which of the
following?
(a) Parliamentary system
(b) President
(¢) Prime Minister
(d) Basic Structure of the Constitution

56. Which of the following can be included as a political
philosophy of the Indian Constitution?

1. Social Justice

2. Freedom of the individual

3. Secularism

Select the correct answer using the codes given below:
(b) 1 and 2 only

(d) 1,2and 3

(a) 1only
(¢) 1and 3 only
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57. T B H ST o9 WA & g ARSI gardt
FEMN W AR T F RO Sl &1 w1 39
Hed ¥ frefafed woml W faur sitsa:

1. STRIEE Yardt TR &t 9= § 99 2017
% | 2019 3% 1 gIfg & 2

2. YArE R HT GEitd THA IRE 39 A
g R

3. 15 9 24 99 & yardt sfgei &t fewded §
20% &1 If5 € 2

4. fosmTesia 3o H SR 1 3=4 Ygfa sHeh
T

STfE we § ¥ HHE-9 e 22

(a) ®ae 1,2 3R 4

(b) od 1, 3 3R 4

(c) whael 2, 3 3R 4

(d 1,2,3 3 4

58. fereie ugper & Yebs & we o feAfatEa wmet
T faar Fifsa:

1. 39 @ 10 U fham & fad wxaed
1 AR AR ST 2
2. TOH 09 THR Td Tehi wiafaar ot fae

FHT TR

ST H 9 wE-H/8 TEl 2?2

(a) Had 1 (b) Faa 2

(c) 1 ¥R 2 g (@1, A2

59. 20& UYFTOAT & STIER WEE H 2012 & e

fore w1 9fg ot *1 W 22

(a) 4.6% (b) 5.4%

() 3.2% (d) 6.5%

60. ‘Tl AT Hiedded e’ grr ad 2021-22
H 9 i S gig 1 STEE o T R ?
(@) 9.5% (b) 5.8%
(c) 8.3% (d) 8.5%
61. ‘Tollee IR greddeE’ ful fhae g s
FT S 22
(a) Towa o
(b) HIF T
(c) SR H1 7w
(d) AT 99 T

R o7eEE | Wi e
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57. Recently the third edition report on International
Migrant Workers was released by the International
Labor Organization. In this context, consider the
following statements:

1. The number of international migrant workers
has increased by 3% in 2019 as compared to
2017.

2. Most of the migration of workers took place
in Arab countries.

3. The share of migrant workers aged 15 to 24
has increased by 20%.

4. The reason for this is the high trend of
unemployment in developing countries.

Which of the statements given above are correct?
(a) 1,2and4 only
(b) 1,3 and 4 only
(¢) 2,3 and4 only
(d) 1,2,3and 4

58. With reference to the Special Livestock Sector
Package, consider the following statements:

1. Its target is to make animal husbandry more
profitable for 10 crore farmers.

2. State government and co-operative societies
will also be able to invest in this.

Which of the statement(s) given above is/are correct?

(b) 2 only

(d) Neither 1, nor 2

(a) 1only
(¢) Both 1 and?2
59. According to the 20" Animal Census, what is the
percentage increase in livestock compared to 2012?
(a) 4.6%
(b) 5.4%
() 32%
(d) 6.5%
60. What is the GDP growth forecast of India for 2021-22
made by the 'Global Economic Prospects Report'?
(a) 9.5%
(b) 5.8%
(c) 8.3%
(d) 8.5%
61. 'Global Economic Prospects' report is released by?
(a) World Bank
(b) United Nations
(¢) International Monetary Fund

(d) International Labor Organization
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62. R fwrd S g weqa ‘e feeran fod! &
Hed § frefafed womil W faar wifsa:
1. =@ Yo ford o g fganfies w9 9
fopan T 2
2. 399 2021-22 % 3d Tk STYrad AT
S % TR-Frowfza wRE oEE # TR
w9 Y 9G4 B GEA FH B T 2
ITfE weA § ¥ HE-EA "l 222
(a) ®ad 1 (b) Had 2
(c) 1 3 2 g (a1, AE2
63. SferT &= H ‘ srfeeiy ToEiaRer 9@ @ arad @2
(a) Tod S g1 o9 ® AW AR B B HI
RUGIERERIBSIEN
(b) Torami g1 Sl  STot a=@ S R
(c) S gRI a9 AT 1 okl i <A
TN
(d) & Treior Sk R T T W U e
1 AR, T <
64. YR AT HUA Gened fem, 2021 ° fwa w
Iysdl & ded o frefafead soml w faar wifsa:
1. & &= H fokelt yow fraw =t &
AGIRT 74% R TR T 2
2. foceht fraw &1 o1ef youe wd eweer I
e o faseht fraw @ =
ST FeA ¥ ¥ SE-T/A T 22
(a) ®ad 1 (b) Had 2
(©) 1 R 2 T (@1, AE2
65. ‘Afya =Aqn wiAe R’ oHawen & fawg o
frfafed weAl W four Sifva:
1. g9 7 <9 g0 ouE Wweld & wemd 9
forfad 1 T TH YHR HT FT YU 2
2. THS qed G-739 HU-U-FH 15% 1 ¥
AT HIANS F T F1 gHT FW T
3. ¥8 HUHA & szl @19 W TR S
= fed T F2 w1 TH H HE IW G
(a) ®ae 1 (b) e 1 3R 3
(c) el 1 3R 2 (@ 1,2 3R 3

66. frefafad # 4 fF= arart sfa & wfte fw=n
Sl
(a) 9, IR, F
(b) T, A9TEH, T
(c) e, siieren,
(d) 3™, 3FR, T

62. With reference to the 'Financial Stability Report'
presented by the Reserve Bank of India, consider the
following statements:

1. Itis published biennially by the Reserve Bank
of India.
2. It envisages a serious increase in the non-
performing asset ratio of scheduled commercial
banks by the end of 2021-22.
Which of the above statement(s) is/are correct?
(a) 1only (b) 2 only
(c) Both1land2 (d) Neither 1, nor 2

63. What is meant by the 'surplus transfer' in the banking
sector?

(a) Payment of the balance amount of profit by
the Reserve Bank to the Centre.

(b) Farmers deposit their savings in banks.

(¢) Merchants donating their balances to banks.

(d) Payment of dividend received by Regional
Rural Banks on agricultural loans to RBL

64. With reference to the provisions made in the Indian
Insurance Companies Amendment Rules, 2021
consider the following statements.

1. The limit for foreign direct investment in the
insurance sector has been increased to 74%.
2. Foreign Investment shall mean both direct and
indirect foreign investment.
Which of the above statement(s) is/are correct?
(a) 1only (b) 2 only
(c) Both1and2 (d) Neither 1, nor 2

65. With reference to the 'Global Minimum Corporate
Rate' regime, which of the following statement(s) is/
are correct?

1. Itis atype of tax system developed by Group
7 countries through mutual agreement.
2. Under this, G-7 countries support a global
minimum corporate tax rate of at least 15%.
3. Itwill be levied on foreign profits of companies.
Select the correct answer using the codes given below :
(a) 1only (b) 1 and 3 only
(¢) 1and?2 only (d) 1,2and 3

66. Which of the following are included in horticulture

agriculture?
(a) Bamboo, Cocoa, Cashew
(b) Coconut, Mushroom, Sugarcane
(¢) Lemon, Amla, Moong

(d) Mango, Pomegranate, Wheat
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67.

68.

69.

70.

71.

‘fefSed g1’ & a&d IUAF & <o & Hed #
TR Teferaren & GHel o1 Tl el Tehdl 872
1. = TR R fefoea = #1 smavasda
Eail
2. ITANTRTIST I WEeR H@rEE! & Ui S
T el ety w ufmar 21

ST werl § ¥ wA-G/A wE B2
(a) woe 1 (b) Fad 2
(c) 1 3 2 g (@1, A2

T AT 1 SAAN H Sd v Wieh ToRToS
(THuEe) & fowa o =t 7 fawien « gqa feget
% ded # fAfafed ol w faar wifsd:
1. TSHifaew, ofie, SAMMRE T@ HiaRe 998
I THTHE & AW ¥ Yot i w6t STEfa
3 & =
2. U9 IEH, S UHIfSe 9RO W TSH 9t
wE o feam o wem g, oel waus
T Y HT G|

= f@ T w2 w1 W@ w HE W g
(a) ®aa 1 (b) Fa 2
(¢) 1 &R 2 T ( Fd1, T2

frfafea waai ) faar wifsa:

1. K vre Realt srderaeen & fafv= fewm
¥ ofer-3fen & A g # el &
wefdfd @ B

2. ‘K’ IS TS el 9 stefeewen =i
Hrem | e aftedd g

3.9 2020 9 ¥ fava &1 wHA @St
seforeeen aren <9 €, foee memd o
ThREH gfg T Tfaa w1 2

ST weHl § @ #E-9 9 72

(a) Fad 1 3R 2 (b) FaA 1 3 3
(c) Had 2 3N 3 @ 1,2 3R 3
‘fova oo afigea’ T fa &1 yerH fow
e gry fepan s 272

(a) fowa &

(b) foea =R H1eA

(c) AT Ha1 I

(d) oTféer T | TR

IR § M1 a0 i TR 31T T Afawrd HEAl
T foar FifsE:

1. TS ST QR SR gorea i gsfigd
SR % S TR-Gagie S i ugw
I gHfr=a waf

2. S U STRT WiTHH e § IR
SR SEERE # ghg Fwam

67.

68.

69.

70.

71.

What might be the challenges before the Indian
economy in the context of the trend of increasing use
of 'digital currency'?

1. Large scale digital infrastructure will be
required.

2. Making users aware of cyber frauds is a long
term process.

Which of the statement(s) given above is/are correct?
(a) 1only (b) 2 only
(c) Both1and2 (d) Neither 1, nor 2
With reference to the major points of the
recommendations made by the committee headed by
Harsh Bhanwala regarding Social Stock Exchange
(SSE), consider the following statements:

1. Political, religious, business and corporate
groups should be allowed capital formation
through SSE.

2. Such enterprises will be able to get the benefit
of SSE which are able to show the impact on
social perception.

Select the correct answer using the codes given below :
(a) 1 only (b) 2 only
(c) Both1and2 (d) Neither 1, nor 2
Consider the following statements:

1. 'K' shaped recovery refers to recovery of
varying rate or magnitude in different parts of
the economy.

2. 'K'shaped economic recovery leads to massive
changes in the structure of the economy.

3. In the year 2020, China is the only country
with the largest economy in the world, which
has achieved a positive growth rate in the
epidemic.

Which of the statements given above are correct?
(a) 1and 2 only (b) 1 and 3 only
(¢) 2 and 3 only (d) 1,2and 3
Which organization publishes the report named
"World Economic Outlook'?
(a) World Bank
(b) WTO
(c) International Monetary Fund
(d) Economic and Social Commission
Consider the policy steps taken to address the data
gap in India.

1. The National Data Sharing and Accessibility
Policy will ensure access to non-sensitive data
between registered users.

2. The Open Government Data Platform will
enhance transparency and accountability in
governance.
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ST weA § ¥ HE-T/A T 22
(a) ®a 1 (b) Faa 2
(c) 1 3 2 g (d Fd1, T2
72. fr=fafad wo ® faar Fifse:
1. HEIEHI i Hferd s g difsen Jifq Tw
9 I 2
2. R A A st o <@ ¥ afs
3R = o1 Wiewted femen T 1

3. Hed Az MG o B0 I HH ARG IH=
a1 ® SR @9 1 gt R S 2

ST weAl § ¥ SA-G/A TE B2
(a) e | (b) ot 2 3R 3
(c) ae | 3 3 (d 1,2 3R 3

73. i eay fAYM & wrafmgd ® wia-w
S/t R 2722
1. 9 H STEEE 9Rug
2. @R SR UHE S

3. e

4, THUHTUAE
= <8 U T2 w1 T@ W HE SW g
(a) Ha 1 (b) ot 2 3R 3
(c) Had 3 3N 4 @ 1,2,3 34

74, o S gR1 oM 1 T ‘Y sisen W weet’
% T3 o frAfafed wuml w foer Fifs3:
1. 98 aH Yuet & Yaud & fod & &6
TE TR-CTHRT TS Bl
2. 398 T i ¢ faferal, ARt SR gefreRt
1 fasrfaa fean smam
3. R § ® ® e % @i SR R
et wUEr € TEw! THIR & g
= fed MU FE w YA I GE wAA A
(a) Had 1 (b) o 2 3R 3
(c) ae 1 3R 3 (d 1,2 33
75, ufeEat qAHOT o SR s R g & v
2q fFE yR 9am Bri? 38 e | frefafea
Fg R fa=m wifsa?
1. =& Sl 9 TR-Froareenit aREufat 6 elis
el 2l
2. W AT THER W HHA FElE H i
IS TN NPAs HeHd Hod T qREd
AR HTR B S R
3. ufgufa qafmio Sat S sTo sife i
qufd &1 20% T sl qATwdar STga ST

TG B
ST Ul § ¥ -9 FE 22
(a) ae | 3N 2 (b) ot 2 3R 3
(c) ae 1 3 3 (d 1,2 33

Which of the statements given above is/are correct?
(a) 1only (b) 2 only
(¢) Both 1and2 (d) Neither 1, nor 2
72. Consider the following statements:
1. Monetary policy is an effective measure to
balance inflation.
2. Under liberal monetary policy, interest rates
are increased and savings are encouraged.
3. Tight monetary policy encourages spending
and making debt less cost-effecting.
Which of the statement(s) given above is/are correct?
(a) 1only (b) 2 and 3 only
(c) 1and 3 only (d) 1,2and 3
73. Which agency/agencies is/are partner(s) in the
implementation of the Floriculture Mission?
1. Indian Council of Agricultural Research
2. Khadi Village Industries Commission
3. APEDA
4. MSME
Select the correct answer using the code given below:
(a) 1 only (b) 2 and 3 only
(¢) 3 and4 only (d) 1,2,3and 4
74. With reference to the New Umbrella Entity Initiative'
launched by the Reserve Bank of India, consider the
following statements:
1. It will be a non-profit entity set up to manage
the payment system.
2. Under this, new payment methods, standards
and technology will be developed.
3. Only companies owned and controlled by
citizens residing in India can be its promoters.
Select the correct statement(s) using the code given
below:
(a) 1lonly (b) 2 and 3 only
(¢c) 1and 3 only (d) 1,2and 3
75. How the asset reconstruction company will be able
to solve the problems of banking sector? Consider
the following statements:
1. It can buy non-performing assets from banks.
2. Instead of wasting time on its defaulters, the
bank will be able to sell its NPAs to the asset
reconstruction company at the agreed price.
3. Asset Reconstruction Company has to
maintain Capital Adequacy Ratio of up to 20%
of'its Risk Weighted Assets.
Which of the statements given above are correct?

(a) 1and2only (b) 2 and 3 only
(¢) 1and 3 only (d 1,2and3
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76. 159 foa smam gm &t T fawifel ® dday o
frefafed wami w four Fifs3:
1. ST g1 TSTh NTE STRaloeel 3IR oSie JaeH
sifafm, 2003 & YTied &t STEvIHd W
SR fean o 2
2. Tl Wl STI Hehdd ] SR & AT H
TSThIHIT | &1 15 a8 | 3% qh o i

e =1 T 2
Irda weA § ¥ HE-E/A wE 22?
(a) ®ad 1 (b) Fad 2
(¢) 1 &R 2 T ( Fd1, T2

77. =] SR Hfifq W % Seed & wed # Frefted
Ferl W fo=m wife:
1. 78 @ &3 § © ® TEE & Sed-&X
T gurR w3
2. TEH WS Ste ferferern i g foen s
3. U Ty e 3R HEIeA shi Gl i S

Tl S

ST weAl § ¥ HE-T/A T 22
(a) woA 1 (b) Faa 2
(c) ®ael 1 3R 3 (d) 1,2 3R 3

78. ‘=] TRIHI' i STAURUN &l FEuYH fhed wd
foram?
(a) T el (b) TeH femw
(c) BI oW ua (d) fomer e
79. ‘SEdeE Hhe HIRER' &1 IRaed & Ifeswivn 4
I WEw B2
1. 9% faom ¥ Aermfeal w@aT €9 9 =

|
2. U8 AR I XA AR h g H AU
IR 33 | Hem B
ST FUA § ¥ BE-F/E W& /2
(a) ®a 1 (b) Fad 2
(¢) 1 &R 2 g (d Fd1, T2

80. fr=fafeaa werl W fo=m Fifse:
1. G A% TSA™ ®PET AE SITHe |
‘TR T WS e TR
2. TR YISl Taeliehe=l 371 B3I erd
A Y @ YU R | s €

3. BEEUIME 1 TN A&AUeH B STovash
ufde AR wH & fad w2

4. TeeTheR W fa g1 & el w1 ST S
F= fed F2 &1 T F TR woH g

(a) ee | 3N 2
(c) Wae 2 3N 4

(b) o 3 3R 4
(@ 1,2,3 8R4

76. With reference to the recommendations made by the
15" Finance Commission, consider the following
statements:

1. The need for restructuring of the Fiscal
Responsibility and Budget Management Act,
2003 has been emphasized by the Commission.

2. States have been recommended to bring down
the fiscal deficit as a proportion of their GDP
to 3% over 15 years.

Which of the statement(s) given above is/are correct?
(a) 1only (b) 2 only
(c) Both 1and2 (d) Neither 1, nor 2

77. With reference to the objectives of the draft Blue
Economy Policy, consider the following statements:

1. It will improve the standard of living of the
communities living in the coastal areas.

2. In this marine biodiversity will be protected.

3. The security of the national maritime zone and
resources will be maintained.

Which of the statement(s) given above is/are correct?
(a) 1only (b) 2 only
(c) 1and 3 only (d) 1,2and 3
78. Who introduced the concept of 'Blue Economy' first?
(a) Gunter Pauli (b) Adam Smith
(¢) Dr. Amartya Sen (d) Vimal Jalan

79. What is the importance of 'Dedicated Freight
Corridor' for transport?

1. With its development, freight trains will be
able to run freely.

2. This line will be able to lift the load as
compared to other rail lines.

Which of the above statement(s) is/are correct?
(a) 1 only (b) 2 only
(¢) Both 1 and?2 (d) Neither 1, nor 2

80. Consider the following statements:

1. The Center of Advanced Computing of
Development has started a project named
'Aquaponics'.

2. The Aquaponics Project combines two food
systems called aquaculture and hydroponics.

3. Hydroponics is used to create the necessary
environment for fish rearing.

4. In aquaculture plants are grown without soil.

Select the correct statements using the codes given
below :
(a) 1and?2 only
(¢) 2and4 only

(b) 3 and 4 only
(d) 1,2,3and 4
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81. 3w 3R rfad =aUR =Eer % fafEm &g

ST T SR wE (Swme) frEm, 20200

% qEHH G W STEeT YA HHA-9l §?

(a) T E-hAE THE AT A 39 THA R,
TTaE & ol forema fremor d3 ot =t
e e ®9 9 S

(b) 3-HMH HTA Al 48 T H AR IuHE
! forhrea wifed 1 g < Eh

(c) T AUFTIH IR SIS H1 GROT

guef S 2
(d) sudiFn @ (3-wimd) fem e
SR Yepta w1 R

82. ‘T W' & Hay H frefafed werl W fa=w
It
1. 9% A foRE Icued ¥ ®igd & Sod 9
ITH TF TFR F TR 2
2. oW fafas ewretfeaee @ wegfafew
RIS HT AT UE Sl 2
3. THEI SWEN ®HHie, W IAE § fHa S
Hehell B
4. WS U9 HiE TEreed & ol e el €
F= &I T H2 F TET F G FOH G
(a) o 1| (b) o 2, 3 3N 4
(c) ®aet 1,2 33 (d) 1,2,3 34
83. B & H dgU I oI Wenfd ‘Henfafes dgem’
1 el 3@ T R?
(a) TATIE- AR R ferd
(b) 5™ wEE
(c) TS et
(d) TR 2R T
84. ‘=i e’ o Eed W Frefeiad weMl W faER
HIfS:
1. =i hrEq 3 14 B8y 1w & fauda s
ERENI
2. fF FHIEA I HATST Tl & ®9 § Tl
§ T ?, S ooy wREdT & wRE F TG
o 2
ST weAl § ¥ FA-A/A TE /2
(a) &I 1
(b) ®ae 2
(¢) 1 R 2 T
(d Ja1, T2

81. Which one of the following is a false statement with
reference to the provisions of the 'Consumer
Protection (E-Commerce) Rules, 2020' made for the
regulation of e-commerce and unfair trade practices?

(a) Every e-commerce entity shall compulsorily
provide information on returns, refunds,
exchange warrants, guarantees, deliveries,
shipments, modes of payment, grievance
redressal mechanism, etc. including its country
of origin.

(b) The e-commerce company shall notify the
consumer of receipt of the complaint within
48 hours.

(c) This Act enables the concept of Product
Responsibility.

(d) E-commerce companies will be able to give
all their information only to the government.

82. With reference to 'fly ash', consider the following
statements:

1. It is a kind of by product produced by the
burning of coal in thermal power generation.

2. The amount of silicon dioxide and aluminum
oxide is found in it.

3. It can be used in concrete, cement products.
4. Fly ash is not harmful to human health.

Select the correct statement using the codes given
below:
(b) 2,3 and 4 only

(d) 1,2,3and 4

83. Recently at which place a rare species of leopard

(a) 1 only
(¢) 1,2 and 3 only

'Melanistic leopard' has been seen for the first time?
(a) Navegaon- Nagzira Tiger Reserve

(b) Jim Corbett
(c) Nagarjuna Srisailam
(d) Namdapha Tiger Reserve
84. Withreference to balck carbon, consider the following
statements:

1. Black carbon is readily soluble unlike other
greenhouse gases.

2. Black carbon has been recognized as an
anthropogenic agent, a factor responsible for
climate change.

Which of the statement(s) given above is/are correct?
(a) 1 only
(b) 2only
(c) Both1and?2
(d) Neither 1, nor 2
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85. MR effewd & ded ® fr=fafad o | fa=ar
EAIEDE
1. sfifewn W&R 5 FTE T Sifewd UM,
2021 H faeet e eifews =t Gen &1 fusd
o FI gor | <A1 @ T R
2. T efferd & TeErR § SR 2
3. 9Rd &t Faoht eia o sadt effew & <@
S R
F= &I T H2 F W@ G FOH g
(a) el 1 3R 2
(b) el 1 3R 3
(c) Fae 2 3 3
(d 1,2 3R 3
86. FUUH Fe GRI ST MY T A ‘e g RO’
yq@ fageti & wed ¥ frafafad woml W four
EAIEDE
1. 39 &M & WF 9 H |qf [M W 2
T, 2021 ¥ @n TR @ 2
2. TH FMA H1 3299 ST hl T & T
AR SYHON H THT L o HeH

CEIE I
3. 9 A | 9 soiaRieh SN hl wfed
e T R
IR § W FE-G/Y A FUA 27
(a) wae 1 (b) e 1 3R 3
(c) ®ad 2 3N 3 (d 1,2 33
87. ‘fawM sAERE’ T Hiwon fRg ad & T eft?
(a) =d 2017 (b) a¥ 2018
(c) a9 2019 (d) a1 2015
88. ‘Hiefte’ i waifera 2:
(a) Hifoe-19 9
(b) wafw forem 9

(c) WIfHer w@re ¥
(d) T SeTel w1 eSSt |
89. THWR AFTHHA HI 50a THNS HT A oW FA
T et?
(a) oYM IR STt
(b) it St 1 Hea
(c) T gff iR fowa
(d) emafiy SR STl Geron
90. ST TIEIUT TG STUART I el TR STIHH
for| a9 gorE gam?
(a) 1975
(c) 1982

(b) 1972
(d) 1980

|'F|TWIW31W i 2
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85. With reference to the Indian Dolphin, consider the
following statements:

1. According to the Dolphin Census, 2021
conducted by the Odisha government, the
number of dolphins has doubled.

2. Humpback Dolphin is found in the Indian
Ocean.

3. Irrawaddy Dolphin has been sighted in Chilika
Lake of India.

Select the correct statement using the code given
below:

(a) 1 and?2 only
(¢) 2and 3 only

(b) 1 and 3 only

(d) 1,2 and 3

86. With reference to the key points of the new law 'Right
to Repair' made by the European Union, consider the
following statements:

1. This law has been implemented from March
2, 2021 on all the countries of the European
Union.

2. The objective of this law is to enable consumers
to repair their electronic equipment on their
own.

3. This law covers all electronic devices.

Which of the statement(s) given above is/are false?
(b) 1 and 3 only
(d) 1,2and 3

(a) 1 only
(¢) 2and 3 only
87. In which year 'Mission Innovation' was announced?
(a) 2017 (b) 2018
(c) 2019 (d) 2015
88. Seaweed mission is related to-
(a) Covid-19
(b) Primary education
(¢) Primary health
(d) commercial cultivation of seaweed
89. What was the main theme of the 50" anniversary of
the Ramsar Convention?
(a) Wetlands and water
(b) Conservation of aquatic life
(c) Wetland and world
(d) Wetland and water conservation

90. In which year did the Ramsar Convention adopted
for wetland conservation come into effect?
(a) 1975 (b) 1972
(c) 1982 (d) 1980
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91. TR UIRFeATds F & WX Gehask & ®9 H HF
ST Bl FeRT STTehaR STl WA o TSTEq qell
TSRM @ WfHd 21 TR e = ge e
ol HE T HEH 2
SeRt e frfated o 9 ford vaft 1 ) Hend
Hl &7

(a) = feam =2

(b) TRPIE WEET wAEhH R
(c) feamerh TR didR

(d) ez drwa

92. ‘TR’ Tz yomelt & Ged ¥ fr=fafea wemt
T foar Fifea:

1. % 9de ¥ g1 H AR & dell @ikd hRas
e 2

2. THH! ANE awar 100 fRHL g WA &
Y 2

3. 3@ oo i ‘sfeam domet Aferem Samse
fen’ 9 o fFa T 2

STE woH B ¥ HHE-GU/A ol 272 ?
(a) & 1 (b) Fad 2
(c) wheel 2 3R 3 @ 1,2 33

93, ‘A Tlaies’ o Hey H frefafaa wemt
R foar wifsa:
1. AFEEN Tearer Hfale Jumel g i
®Y 9 SR WA R
2. 39 fafere voq o RIS i FA-T ik
T ST Hehel B
3. TS WY hod ferw @ g &1 T
4, THHT ITAM ARG HISTHIS TH 3T Hi
A & fad fmar s geRar 21
= fed MU Fe w1 YA w GG wAA
(a) sael 1 3R 2
(b) et 2, 3 R 4
(c) ad 1,2 3R 4
(@ 1,2,3 34
94. sMfRt I 0T TE fERT ®% F Tw ¢ YER
% O A’ R WIS HI | 5H GERE % He
¥ frefafed ol w foaar #ifs@:
1. 9% 9T GA9UH Siefifosn & U &
‘o | uEn T
2. € THEINE aPRE qaR | gt 2l
3. 3O TS | SR BARRSE HIeR e S
herdt B
4, TH 9PRE % UETEH THTES B

91. They are considered as health indicators of the
ecosystem. Most of their population is confined to
Rajasthan and Gujarat of India. Their habitat is
grassland with minimum visual barrier.

The above information refers to which of the
following birds?

(a) Great Indian Bustard

(b) Asian Paradise Flycatcher

(¢) Himalayan Monal Pheasant

(d) Indian Peafowl

92. With reference to the 'Pinaka’ missile system, consider

the following statements:
1. Itis arapid surface-to-air missile.
2. Its strike range is 100 km with complete
accuracy.
3. This missile has been equipped with 'Indian
Regional Navigation Satellite System'.

Which of the statements given above is/are not

correct?
(a) 1only (b) 2 only
(¢) 2 and 3 only (d) 1,2and 3

93. With reference to monoclonal antibodies, consider
the folowing statements:
1. Monoclonal antibody is a protein produced
naturally by the immune system.
2. It can be made by cloning a specific white
blood cell.
3. It was discovered only by Scripps Research.
4. Ttcanbe used to deliver drugs to diseased cells.
Select the correct statement using the code given
below:
(a) 1and?2 only
(b) 2,3 and 4 only
(¢) 1,2 and4 only
(d) 1,2,3and 4
94. The US Centers for Disease Control and Prevention
has discovered a new type of 'chaper virus'. With
reference to this virus, consider the following
statements:
1. This virus was first found in Bolivia's rural
area 'Chapar’.
2. It belongs to the Arenaviridae virus family.
3. Dueto this, a disease called hemorrhagic fever
spreads in humans.

4. The vectors of this virus are bats.
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Which of the statements given above are correct?
(a) 1 and4 only (b) 2 and 4 only
(¢) 1,2and3 (d) 1,2,3and 4
95. What is meant by 'Quantum Supremacy'?
(a) Connecting all quantum computers
(b) Collection of quantum computers
(¢) Development of super computer

(d) Successful demonstration of computation by
quantum computer

96. Which of the following could be/are a possible
alternative to Lithium Ion and technology?
1. Graphene Battery
2. Fluoride Battery
3. Sand Battery
Select the correct answer using the code given below :
(a) 1only (b) 2 only
(¢) 1 and 3 only (d) 1,2and 3
97. Which type of missile is'HELINA' developed by the
Defense Research and Development Organisation?
(a) Anti-tank Guided Missile
(b) Cruise Missile
(c) Ballistic missile
(d) Anti ship
98. Which country's space agency has developed a guided
missile satellite named 'Nisar'?
(a) America
(b) China
(¢) Russia
(d) Britain
99. Consider the following statements about the missile
'Rudram' developed for the Indian Air Force.
1. Itis an anti-radiation missile, which can detect
the radio frequency sources of the enemy
country.

2. Its firepower is more than 100 km.
Which of the statements given above is/are correct?
(a) 1 only
(b) 2only
(¢) Both 1and?2
(d) Neither 1, nor 2
100. Tilari Conservation Reserve is located in which state
of India?
(a) Maharashtra
(b) Uttarakhand
(¢) Arunachal Pradesh
(d) Madhya Pradesh
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